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Aufgaben-Quickname: 5921

Aufgabe 1

Setze + oder — ein.
a) 19 +2 =21

e) 21412 =33
h) 24 + 17 = 41
Aufgabe 2

Setze + oder — ein.
a) 91 — 49 = 42
e) 61 — 48 = 13
h) 70 — 57 = 13
Aufgabe 3

Setze + oder — ein.
a) 26 —24 =2

d) 14 4+ 13 = 27
h)4+2=6
Aufgabe 4

Setze + oder — ein.

a) 1487 — 858 = 629

d) 5550 + 2556 = 8106
£) 5657 + 1488 = 7145

h) 6158 + 2869 = 9027

j) 7932 — 5559 = 2373

Viel Erfolg!
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b) 6057 + 41 = 6098
e) 4957 + 478 = 5435
g) 3163 — 3060 = 103
i) 1502 + 1308 = 2810

b)4d+2=146  ¢)4d4—41=3
N26—-20=6 g1l6—9=7
D27T+18=45 })31—-30=1
D7—-5=2 ¢ 174+9=26
H57—52=5  g54—48=6
)69 +29=098  j)61—40=21
b)19+9=28  ¢)20—19=
) 7+4=11  £)20+9=29

N3-2=1 j17—-9=38
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Q) 7+6=13

¢) 1857 — 1778 = 79
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